Precalculus with Limits
Test Review
Parametric and Polar Equations

Period

For each of the following parametric equations in #'s 1-3:
a) Graph by constructing a table of values fort, x, and y for the specified interval of t.

b) Obtain the rectangular equation by eliminating the parameter.
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4. The path of a projectile fired from ground level with an initial velocity of v, feet per second at an angle a with the
ground is given by the parametric equations

x(t) = (v, cosa)t
y(t) = —16t? + (v, sina)t

a) Let @ = 30° and v, = 20 ft/s. What is the horizontal distance traveled by the object?
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b) Now let a = 60° and v, = 20 ft/s. What is the horizontal distance traveled by the object?
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c) Can you make a conjecture about horizontal distance of a projectile and angle measure? >
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5. Plot the points whose polar coordinates are

0 (12)

b) (-1,1)

). Give four other pairs of polar coordinates that represent the
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same point. Two must have a positive r value and two must have a negative r val

6. Consider the point given in polar coordinates
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7. Convert the following points from polar to rectangular coordinates. >( i 3C05('W®5

X=ras8 . ~@ca5(’73> X z-3 B
A(32E) w=3pas(7%) B (V-5 X=%- 5 ) (-3.-%)
X=0 - 'BS?H( )

‘ H~Xa§n\'ﬁ/5)
Y= S ino .
Gz (0,33 glE)-E g -3 Chy=35
\’8 Convert the follo ints from rectangular to polar cpordsrpgces“ F ’5
a) (3\/‘ 3) o % b) (3,—4) Lé Vm 0 (~2v3, 2) /3>
o _L /~" B=-43 ;mé

9. Flndtheéélarequ(zsho ) y2 = 4. et ) rag b, 5'1}—/65

4.3+
€ i s

10. Find the polar equation for x? = =16y + 2
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12. Find the rectangular equation for r = 4_2)56. ,,,//«—4'/ s o ; 7
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13. Find the rectangular equation for r = 6.
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List all symmetries for each of the following polar graphs. Perform an algebraic test for each type of symmetry.
Remember that a polar graph can algebraically fail test but still pass graphically.

15.r = 4 — 3 cos(8)
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Prove thatr = asin 6 + bcos 6 repres

nts a circle and find ItS radius and center.
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Graph the following. Use polar graph paper. 7% 0] D/ _ Lf
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22. Determine where the polar graphs intersect.
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